Electronic Journal of Differential Equations, Vol. 2007(2007), No. 31, pp. 1–10. ISSN: 1072-6691. URL: http://ejde.math.txstate.edu or http://ejde.math.unt.edu ftp ejde.math.txstate.edu (login: ftp)

ON A CONVEX COMBINATION OF SOLUTIONS TO ELLIPTIC VARIATIONAL INEQUALITIES

MAHDI BOUKROUCHE, DOMINGO A. TARZIA

ABSTRACT. Let u_{g_i} the unique solutions of an elliptic variational inequality with second member g_i (i = 1, 2). We establish necessary and sufficient conditions for the convex combination $tu_{g_1} + (1 - t)u_{g_2}$, to be equal to the unique solution of the same elliptic variational inequality with second member $tg_1 + (1 - t)g_2$. We also give some examples where this property is valid.

1. INTRODUCTION

In the linear problems for partial differential equations this property leads to the well known superposition principle which is classically used for example in Fourier series, variational equalities, etc. In these cases the linear combination (and also a convex combination) of two solutions of a linear problem, associated to two data, is also solution of the same problem with linear (convex) combination of the two data.

However, in general, this property is not true for the solutions of nonlinear problems, for example for the variational inequalities. The variational inequality theory is fundamental in order to solve free boundary problems for partial differential equations, e.g. the dam problem [1]; the one-phase Stefan problem [2]; the obstacle problem [3, 4, 5]; the mathematical foundation of the finite element method [6] and its corresponding numerical analysis [7].

The goal of this paper is to give necessary and sufficiently condition to obtain that this property in valid for a convex combination of the solutions of elliptic variational inequalities.

Let V be an Hilbert space, V' its topological dual, K be a closed convex non empty set in V, g_i in V' for i = 1 and 2, and a bilinear form $a : V \times V \to \mathbb{R}$, which is

- symmetric: a(u, v) = a(v, u) for all $(v, u) \in V \times V$,
- continuous: there exists M > 0 such that $|a(v, u)| \leq M ||v||_V |u||_V$ for all $(v, u) \in V \times V$,
- coercive: there exists m > 0 such that $|a(v, v)| \ge m ||v||_V^2$ for all $v \in V$.

 $^{2000\} Mathematics\ Subject\ Classification.\ 35R35.$

Key words and phrases. Elliptic variational inequalities; convex combination of its solutions. ©2007 Texas State University - San Marcos.

Submitted September 2006. Published February 22, 2007.

It is known [8, 9, 10] that for each $g_i \in V'$ there exists a unique solution $u_i \in K$, namely

$$a(u_i, v - u_i) \ge \langle g_i, v - u_i \rangle \quad \forall v \in K \quad i = 1, 2,$$

$$(1.1)$$

where $\langle u, v \rangle$ denotes the duality brackets between $u \in V'$ and $v \in V$. Then we can consider $g_i \mapsto u_i = u_{g_i}$ as function from V' to V.

We want to establish necessary and sufficiently conditions for the convex combination $u_3(t) = tu_1 + (1-t)u_2$, with $t \in [0,1]$, to be the unique solution of the elliptic variational inequality (1.1) with second member $g_3(t) = tg_1 + (1-t)g_2$, such that

$$u_{tq_1+(1-t)q_2} = tu_{q_1} + (1-t)u_{q_2} \quad \forall t \in [0,1]$$

$$(1.2)$$

if and only if

$$a(u_{g_1}, u_{g_2} - u_{g_1}) - \langle g_1, u_{g_2} - u_{g_1} \rangle = 0, \tag{1.3}$$

$$a(u_{g_2}, u_{g_1} - u_{g_2}) - \langle g_2, u_{g_1} - u_{g_2} \rangle = 0.$$
(1.4)

This means also that if g_1 and g_2 are two points in V' and u_{g_1} and u_{g_2} are the corresponding closest points in the closed convex K then the closest point $u_{tg_1+(1-t)g_2}$ to $tg_1 + (1-t)g_2$ is equal to $tu_{g_1} + (1-t)u_{g_2}$ for all $t \in [0,1]$ if and only if $u_{g_1} - u_{g_2}$ is orthogonal to both $u_{g_1} - g_1$ and $u_{g_2} - g_2$.

This paper is organized as follows. In Section 2 we establish some preliminary results which allow us, in Section 3, to prove our main result that (1.2) is equivalent to (1.3) and (1.4). We also give in Section 4 some examples where this property is valid.

2. Preliminary results

For $t \in [0,1]$ and $v \in K$, we define the function $f: [0,1] \times K \to \mathbb{R}$, by

$$f(t,v) = a(u_3(t), v - u_3(t)) - \langle g_3(t), v - u_3(t) \rangle$$
(2.1)

with $u_3(t) = tu_1 + (1-t)u_2$ and $g_3(t) = tg_1 + (1-t)g_2$.

Lemma 2.1. For all $t \in [0,1]$ and all $v \in K$ there exist A, B(v), and C(v) such that

$$f(t,v) = At^{2} + B(v)t + C(v)$$
(2.2)

where, for u_i is the unique solution of (1.1) with given data $g_i \in V'$ (i = 1, 2)

$$A = a(u_1 - u_2, u_1 - u_2) - \langle g_1 - g_2, g_1 - g_2 \rangle \ge 0,$$
(2.3)

$$B(v) = a(u_1 - u_2, v - 2u_2) - \langle g_1 - g_2, v - u_2 \rangle - \langle g_2, u_1 - u_2 \rangle, \qquad (2.4)$$

$$C(v) = a(u_2, v - u_2) - \langle g_2, v - u_2 \rangle \ge 0 \quad \forall v \in K$$
(2.5)

Moreover, we have

$$A + B(v) + C(v) \ge 0 \quad \forall v \in K.$$

$$(2.6)$$

Proof. Since v = tv + (1 - t)v for all t in [0, 1], we can write f as

$$\begin{split} f(t,v) &= a(tu_1 + (1-t)u_2, t(v-u_1) + (1-t)(v-u_2)) \\ &- \langle tg_1 + (1-t)g_2, t(v-u_1) + (1-t)(v-u_2) \rangle \\ &= t^2 [a(u_1,v-u_1) + a(u_1,v-u_2) - a(u_2,v-u_1) \\ &+ a(u_2,v-u_2) - \langle g_1,v-u_1 \rangle + \langle g_1,v-u_2 \rangle \\ &+ \langle g_2,v-u_1 \rangle - \langle g_2,v-u_2 \rangle] \\ &+ t [(a(u_1,v-u_2) + a(u_2,v-u_1) - 2a(u_2,v-u_2) \\ &- \langle g_1,v-u_2 \rangle - \langle g_2,v-u_1 \rangle + 2 \langle g_2,v-u_2 \rangle] \\ &+ [a(u_2,v-u_2) - \langle g_2,v-u_2 \rangle] \\ &= At^2 + B(v)t + C(v). \end{split}$$

So we have

$$\begin{split} A &= [a(u_1, v - u_1) - \langle g_1, v - u_1 \rangle] - a(u_2, v - u_1) + \langle g_2, v - u_1 \rangle \\ &+ [a(u_2, v - u_2) - \langle g_2, v - u_2 \rangle] - a(u_1, v - u_2) + \langle g_1, v - u_2 \rangle \\ &= a(u_1 - u_2, v - u_1) - \langle g_1 - g_2, v - u_1 \rangle + a(u_2 - u_1, v - u_2) \\ &- \langle g_2 - g_1, v - u_2 \rangle \\ &= a(u_1 - u_2, u_2 - u_1) - \langle g_1 - g_2, u_2 - u_1 \rangle \end{split}$$

and we remark that

$$A = [a(u_1, u_2 - u_1) - \langle g_1, u_2 - u_1 \rangle] + [a(u_2, u_1 - u_2) - \langle g_2, u_1 - u_2 \rangle]$$

as u_i (i = 1, 2) is solution of (1.1) with g_i then $A \ge 0$ and does not depend on v. So (2.3) holds.

$$\begin{split} B(v) &= a(u_1, v - u_2) + a(u_2, v - u_1) - 2a(u_2, v - u_2) \\ &- \langle g_1, v - u_2 \rangle - \langle g_2, v - u_1 \rangle + 2 \langle g_2, v - u_2 \rangle \\ &= a(u_1 - u_2, v - u_2) + a(u_2, (v - u_1) - (v - u_2)) \\ &- \langle g_1 - g_2, v - u_2 \rangle - \langle g_2, (v - u_1) - (v - u_2) \rangle \\ &= a(u_1 - u_2, v - u_2) + a(u_2, u_2 - u_1) \\ &- \langle g_1 - g_2, v - u_2 \rangle - \langle g_2, u_2 - u_1 \rangle \\ &= a(u_1 - u_2, v - 2u_2) - \langle g_1 - g_2, v - u_2 \rangle - \langle g_2, u_2 - u_1 \rangle \end{split}$$

So (2.4) holds. Also

$$C(v) = a(u_2, v - u_2) - \langle g_2, v - u_2 \rangle \ge 0,$$

so as u_2 is the solution of the variational inequality (1.1) with second member g_2 , then we have (2.5). Moreover

$$A + B(v) + C(v) = f(1, v) = a(u_1, v - u_1) - \langle g_1, v - u_1 \rangle \ge 0 \quad \forall v \in K,$$

(2.6) holds.

then (2.6) holds.

Now we define

$$\alpha = a(u_1, u_2 - u_1) - \langle g_1, u_2 - u_1 \rangle, \qquad (2.7)$$

$$\beta = a(u_2, u_1 - u_2) - \langle g_2, u_1 - u_2 \rangle.$$
(2.8)

Lemma 2.2. Let α and β be defined by (2.7) and (2.8) respectively. Then $\alpha \geq 0$, $\beta \geq 0$, and for all $\lambda \in [0, 1]$ we have

$$C(\lambda u_1 + (1 - \lambda)u_2) = \lambda \beta \ge 0, \tag{2.9}$$

$$A = \alpha + \beta \ge 0, \tag{2.10}$$

$$B(\lambda u_1 + (1 - \lambda)u_2) = -\lambda\alpha - (1 + \lambda)\beta \le 0.$$
(2.11)

Proof. As u_i is a solution of (1.1) with g_i (i = 1, 2) then $\alpha \ge 0$ and $\beta \ge 0$. Taking, in (2.5), $v = \lambda u_1 + (1 - \lambda)u_2$ with λ in [0, 1], we obtain

$$C(v) = a(u_2, \lambda u_1 + (1 - \lambda)u_2 - u_2) - \langle g_2, \lambda u_1 + (1 - \lambda)u_2 - u_2 \rangle$$

= $\lambda [a(u_2, u_1 - u_2) - \langle g_2, u_1 - u_2 \rangle] = \lambda \beta \ge 0.$

From (2.3) we deduce that $A = \alpha + \beta \ge 0$. Taking, in (2.4) $v = \lambda u_1 + (1 - \lambda)u_2$ with λ in [0, 1], we have

$$\begin{split} B(v) &= a(u_1, \lambda u_1 + (1 - \lambda)u_2 - u_2) + a(u_2, \lambda u_1 + (1 - \lambda)u_2 - u_1) \\ &- 2a(u_2, \lambda u_1 + (1 - \lambda)u_2 - u_2) - \langle g_1, \lambda u_1 + (1 - \lambda)u_2 - u_2 \rangle \\ &- \langle g_2, \lambda u_1 + (1 - \lambda)u_2 - u_1 \rangle + 2\langle g_2, \lambda u_1 + (1 - \lambda)u_2 - u_2 \rangle \\ &= -\lambda [a(u_1, u_2 - u_1) - \langle g_1, u_2 - u_1 \rangle] \\ &- (1 + \lambda) [a(u_2, u_1 - u_2) - \langle g_2, u_1 - u_2 \rangle] \\ &= -\lambda \alpha - (1 + \lambda)\beta \le 0. \end{split}$$

3. Main result

In this section we give a positive answer to our question when the equality (1.2) is valid.

Theorem 3.1. We have

$$u_{tg_1+(1-t)g_2} = tu_{g_1} + (1-t)u_{g_2} \quad \forall t \in [0,1]$$
(3.1)

if and only if

$$\alpha = a(u_{g_1}, u_{g_2} - u_{g_1}) - \langle g_1, u_{g_2} - u_{g_1} \rangle = 0$$
(3.2)

and

$$\beta = a(u_{g_2}, u_{g_1} - u_{g_2}) - \langle g_2, u_{g_1} - u_{g_2} \rangle = 0, \qquad (3.3)$$

where $u_4(t) = u_{tg_1+(1-t)g_2}$ is the unique solution of the inequality (1.1) with the second member $g_3(t) = tg_1 + (1-t)g_2$ and $u_3(t) = tu_{g_1} + (1-t)u_{g_2}$ is the convex combination for $t \in [0,1]$, of u_{g_1} and u_{g_2} which are solutions of the variational inequality (1.1), respectively with second members g_1 and g_2 .

Proof. Suppose that $\alpha = \beta = 0$. Therefore, $A = \alpha + \beta = 0$, so

$$f(t,v) = B(v)t + C(v),$$

and from (2.5) and (2.6) we have

$$f(0,v) = C(v) \ge 0 \quad \text{and} \quad f(1,v) = B(v) + C(v) \ge 0 \quad \forall v \in K,$$

then we deduce that $f(t,v) \ge 0$ for all $(t,v) \in [0,1] \times K$. Therefore $u_3(t) = tu_{g_1} + (1-t)u_{g_2}$ is the unique solution of (1.1) with the second member $g_3(t) = tg_1 + (1-t)g_2$, so we get (3.1), by the uniqueness of the variational inequality (1.1) for a given $g_3(t)$.

Suppose now that $u_3(t) = u_4(t)$, $\forall t \in [0, 1]$. Then from (2.1) and (2.2) we have

$$f(t,v) = At^2 + B(v)t + C(v) \ge 0, \quad \forall t \in [0,1], \quad \forall v \in K.$$

Taking $v = u_1 = u_{g_1}$ (i.e. $\lambda = 1$ in Lemma 2.2), we obtain

 $A = \alpha + \beta \ge 0, \quad B(u_1) = -\alpha - 2\beta \le 0, \quad C(u_1) = \beta \ge 0.$

Thus the discriminant $\Delta(u_1) = B(u_1)^2 - 4AC(u_1)$ of the quadratic function $t \mapsto f(t, v)$ is equal to α^2 . Then there exist two roots $t_1 \ge 0$, $t_2 \ge 0$ with

$$\min(t_1, t_2) \ge 1$$
 or $\max(t_1, t_2) \le 0$.

Then the two roots $t_1 = 1$ and $t_2 = \frac{\beta}{\alpha+\beta}$ must not be in]0,1[so t_2 must be equal to 1, which gives $\alpha = 0$.

Taking now $v = u_2 = u_{q_2}$ (i.e. $\lambda = 0$ in Lemma 2.2) we obtain

$$A = \alpha + \beta \ge 0$$
, $B(u_2) = -\beta \le 0$, $C(u_2) = 0$

thus the corresponding discriminant is $\Delta(u_2) = B(u_1)^2 - 4AC(u_1) = \beta^2$. Then there exist two roots $t_1 \ge 0$, $t_2 \ge 0$ with

$$\min(t_1, t_2) \ge 1$$
 or $\max(t_1, t_2) \le 0$.

Then the two roots $t_1 = 0$ and $t_2 = \frac{\beta}{\alpha+\beta}$ must not be in]0,1[so $t_2 = \frac{\beta}{\alpha+\beta}$ must be equal to 0, which give $\beta = 0$.

Corollary 3.2. For K = V the variational inequality (1.1) becomes the following variational equality

$$u \in V: \quad a(u,v) = \langle g, v \rangle \quad \forall v \in V$$

thus $\alpha = \beta = 0$ so

$$u_{tg_1+(1-t)g_2} = tu_{g_1} + (1-t)u_{g_2} \quad \forall t \in [0,1].$$
(3.4)

Remark 3.3. Property (3.4) has been used in [11] to prove the strict convexity of the cost functional for optimal control problems.

4. Applications

Let Ω be an open set in \mathbb{R}^n , $V = L^2(\Omega)$, so V' = V and the duality brackets $\langle \cdot, \cdot \rangle$ becomes the scalar product in V denoted by $(\cdot, \cdot)_V$. We use the usual notation $G^+ = \max(G, 0)$ and $G^- = (-G)^+$, and

$$G \perp F \iff (G, F)_V = 0.$$

We have a preliminary result.

Lemma 4.1. Let $G_i \in L^2(\Omega)$ for i = 1, 2, then we have

$$G_1^- \perp G_2^+$$
 and $G_2^- \perp G_1^+ \iff G_1(x)G_2(x) \ge 0$ a.e. in Ω

Proof. Suppose that $G_1(x)G_2(x) \ge 0$ a.e. in Ω .

If $G_1(x) > 0$ which means $G_1^-(x) = 0$ and $G_1^+(x) = G_1(x)$, then $G_2(x) \ge 0$ implies

$$G_2^-(x) = 0$$
 and $G_2^+(x) = G_2(x);$

thus

$$G_1^-(x)G_2^+(x) = 0$$
 and $G_2^-(x)G_1^+(x) = 0$.

If $G_1(x) < 0$ which means $G_1^+(x) = 0$ and $G_1^-(x) = G_1(x)$, then $G_2(x) \le 0$ implies $G_2^+(x) = 0$ and $G_2^-(x) = G_2(x)$;

thus we have also

$$G_1^-(x)G_2^+(x) = 0$$
 and $G_2^-(x)G_1^+(x) = 0.$

So we have

$$\begin{split} (G_1^-, G_2^+)_V &= \int_{\Omega} G_1^-(x) G_2^+(x) dx \\ &= \int_{\Omega \cap \{G_1 > 0\}} G_1^-(x) G_2^+(x) dx + \int_{\Omega \cap \{G_1 < 0\}} G_1^-(x) G_2^+(x) dx \\ &+ \int_{\Omega \cap \{G_1 = 0\}} G_1^-(x) G_2^+(x) dx = 0 \quad \Rightarrow G_1^- \perp G_2^+, \end{split}$$

and

$$(G_2^-, G_1^+)_V = \int_{\Omega} G_2^-(x) G_1^+(x) dx$$

= $\int_{\Omega \cap \{G_1 > 0\}} G_2^-(x) G_1^+(x) dx + \int_{\Omega \cap \{G_1 < 0\}} G_2^-(x) G_1^+(x) dx$
+ $\int_{\Omega \cap \{G_1 = 0\}} G_2^-(x) G_1^+(x) dx = 0 \quad \Rightarrow G_2^- \perp G_1^+.$

Conversely we have

$$0 = (G_1^-, G_2^+)_V = \int_{\Omega} G_1^-(x) G_2^+(x) dx = \int_{\Omega \cap \{G_1 < 0\}} (-G_1)(x) G_2^+(x) dx$$
$$= \int_{\Omega \cap \{G_1 < 0\} \cap \{G_2 > 0\}} (-G_1)(x) G_2(x) dx$$

 then

$$(G_1^-, G_2^+)_V = 0 \Longrightarrow \begin{cases} |\{G_1 < 0\} \cap \{G_2 > 0\}| = 0, \\ G_1 < 0 \Rightarrow G_2^+ = 0 \Rightarrow G_2 \le 0 \Rightarrow G_1 G_2 \ge 0 \\ G_2 > 0 \Rightarrow G_1^- = 0 \Rightarrow G_1 \ge 0 \Rightarrow G_1 G_2 \ge 0 \end{cases}$$

where $|\omega|$ is the measure of the set ω . We have also

$$0 = (G_2^-, G_1^+)_V = \int_{\Omega} G_2^-(x) G_1^+(x) dx = \int_{\Omega \cap \{G_1 > 0\}} G_1(x) G_2^-(x) dx$$
$$= \int_{\Omega \cap \{G_1 > 0\} \cap \{G_2 < 0\}} G_1(x) (-G_2)(x) dx$$

then

$$(G_2^-, G_1^+)_V = 0 \Longrightarrow \begin{cases} |\{G_2 < 0\} \cap \{G_1 > 0\}| = 0, \\ G_2 < 0 \Rightarrow G_1^+ = 0 \Rightarrow G_1 \le 0 \Rightarrow G_2 G_1 \ge 0 \\ G_1 > 0 \Rightarrow G_2^- = 0 \Rightarrow G_2 \ge 0 \Rightarrow G_1 G_2 \ge 0 \end{cases}$$

This completes the proof.

Example 4.2. Let $\psi \in L^2(\Omega)$, $V = L^2(\Omega)$, and

$$K = \{ v \in L^{2}(\Omega) : v \ge \psi \}, \quad a(u, v) = (u, v)_{V}.$$

We have here easily the existence and uniqueness of $u \in K$ such that

$$[a(u, v - u) \ge (g, v - u)_V \quad \forall v \in K] \Leftrightarrow [(u - g, v - u)_V \ge 0 \quad \forall v \in K]$$

6

which is also equivalent to

$$u = P_K(g) = \max(g, \psi) = g + (\psi - g)^+ = \psi + (g - \psi)^+.$$
(4.1)

Proof. From (4.1), following [10], we have

$$u - g = (\psi - g)^+$$
 and $v - u = v - \psi - (g - \psi)^+$

 \mathbf{so}

$$(u - g, v - u)_V = ((\psi - g)^+, (v - \psi) - (g - \psi)^+)_V$$

= $((\psi - g)^+, v - \psi)_V - ((\psi - g)^+, (g - \psi)^+)_V$

as

$$((\psi - g)^+, (g - \psi)^+)_V = ((g - \psi)^-, (g - \psi)^+)_V = 0$$

then

$$(u-g, v-u)_V = ((\psi-g)^+, v-\psi)_V = \int_{\Omega} (\psi-g)^+ (v-\psi) dx \ge 0, \quad \forall v \in K.$$

Theorem 4.3. Let $V = L^2(\Omega)$, $\psi \in V$, $K = \{v \in V : v \ge \psi\}$, $a(u, v) = (u, v)_V$. For a given $g_i \in V$, i = 1, 2, we associate

$$u_i = u_{g_i} = g_i + (\psi - g_i)^+ = \max(\psi, g_i).$$

Then we have

$$u_{tg_1+(1-t)g_2} = tu_{g_1} + (1-t)u_{g_2} \,\forall t \in [0,1] \Leftrightarrow (g_1 - \psi)(g_2 - \psi) \ge 0 \quad a.e. \text{ in } \Omega.$$
(4.2)

Proof. ¿From the definition of α we have

$$\alpha = a(u_1, u_2 - u_1) - (g_1, u_2 - u_1)_V = (u_1 - g_1, u_2 - u_1)_V.$$

From

$$u_1 - g_1 = (\psi - g_1)^+, \quad u_2 - u_1 = (g_2 - \psi)^+ - (g_1 - \psi)^+,$$

we have

$$\begin{aligned} \alpha &= ((\psi - g_1)^+, (g_2 - \psi)^+ - (g_1 - \psi)^+)_V \\ &= ((\psi - g_1)^+, (g_2 - \psi)^+)_V - ((\psi - g_1)^+, (g_1 - \psi)^+)_V \\ &= \int_{\Omega} (\psi - g_1)^+ (x)(g_2 - \psi)^+ (x)dx \\ &= \int_{\Omega} (g_1 - \psi)^- (x)(g_2 - \psi)^+ (x)dx, \end{aligned}$$

then we deduce that

$$\alpha = 0 \Leftrightarrow \int_{\Omega} (g_1 - \psi)^- (x)(g_2 - \psi)^+ (x)dx = 0 \Leftrightarrow (g_1 - \psi)^- \perp (g_2 - \psi)^+.$$

We have also from the definition of β that

$$\beta = a(u_2, u_1 - u_2) - (g_2, u_1 - u_2)_V = (u_2 - g_2, u_1 - u_2)_V$$

and from

$$u_2 - g_2 = (\psi - g_2)^+$$
 $u_1 - u_2 = (g_1 - \psi)^+ - (g_2 - \psi)^+$

we have

$$\begin{split} \beta &= ((\psi - g_2)^+, (g_1 - \psi)^+ - (g_2 - \psi)^+)_V \\ &= ((\psi - g_2)^+, (g_1 - \psi)^+)_V - ((\psi - g_2)^+, (g_2 - \psi)^+)_V \\ &= \int_{\Omega} (\psi - g_2)^+ (x)(g_1 - \psi)^+ (x)dx \\ &= \int_{\Omega} (g_2 - \psi)^- (x) \cdot (g_1 - \psi)^+ (x)dx, \end{split}$$

then we deduce that

$$\beta = 0 \Leftrightarrow \int_{\Omega} (g_2 - \psi)^- (x)(g_1 - \psi)^+ (x)dx = 0 \Leftrightarrow (g_2 - \psi)^- \perp (g_1 - \psi)^+.$$

Using now Lemma 4.1, with $G_i = g_i - \psi$, we deduce that

$$\begin{cases} (g_2 - \psi)^- \perp (g_1 - \psi)^+ \\ \text{and} \\ (g_1 - \psi)^- \perp (g_2 - \psi)^+ \end{cases} \Leftrightarrow (g_1 - \psi)(g_2 - \psi) \ge 0 \quad \text{a.e. in } \Omega.$$

Moreover

$$(g_2 - \psi)^- \perp (g_1 - \psi)^+$$
 and $(g_1 - \psi)^- \perp (g_2 - \psi)^+ \Leftrightarrow \alpha = \beta = 0,$

and with Theorem 3.1 we have

$$\alpha = \beta = 0 \Leftrightarrow u_{tg_1 + (1-t)g_2} = tu_{g_1} + (1-t)u_{g_2} \quad \forall t \in [0,1],$$

which gives us the equivalence (4.2) and completes the proof.

Example 4.4. Let us consider the following free boundary problem of obstacle type [10],

$$V = H^{1}(\Omega), \quad V_{0} = H^{1}_{0}(\Omega), \quad H = L^{2}(\Omega), \quad K = \{v \in V_{0} : v \ge 0\},$$

$$L(v) = (g, v)_{H}, \quad \text{and} \quad a(u, v) = \int_{\Omega} \nabla u \nabla v dx,$$

$$u \in K: \quad a(u, v - u) \ge (g, v - u)_{H} \quad \forall v \in K.$$
(4.3)

We recall here some usual notation. a is a bilinear symmetric, coercive and continuous form, there exist m, M, such that

$$\|v\|_V^2 \le \||v\||_V^2 = a(v, v) \le M \|v\|_V^2$$

and $((\cdot, \cdot)): V \times V \to \mathbb{R}$ such that

$$((u, v)) = a(u, v) \quad \forall (u, v) \in V \times V$$

is the inner scalar product in V. L is linear and continuous form on a Hilbert space V, and also on V_0 . Then by Riesz theorem there exists a unique $g^* \in V$ such that

$$(g, v)_H = ((g^\star, v))_V \quad \forall v \in V.$$

then (4.3) is equivalent to

$$u \in K$$
: $((u, v - u))_V \ge ((g^*, v - u))_V \quad \forall v \in K.$ (4.4)

Therefore, $u = \mathcal{P}_K(g^*)$ is the projection of g^* on K with the norm $||| \cdot |||_V$. Remark that $V_0 \hookrightarrow H \hookrightarrow V'$ so this exemple is a particular cas of (1.1).

Lemma 4.5. With the above notation, we have

$$g \ge 0$$
 in $\Omega \Longrightarrow g^* \ge 0$ in $\Omega \Longrightarrow u = \mathcal{P}_K(g^*) = g^{*+} = g^*.$

Proof. As $g^* = {g^*}^+ - {g^*}^-$, then

$$((g^{\star +} - g^{\star}, v - g^{\star +}))_V = ((g^{\star -}, v - g^{\star +}))_V = ((g^{\star -}, v))_V - ((g^{\star -}, g^{\star +}))_V$$
$$= a((g^{\star -}, v)_V - a((g^{\star -}, g^{\star +})_V) = \int_{\Omega} \nabla g^{\star -} \nabla v dx.$$

From

$$\int_{\Omega} \nabla g^{\star} \nabla v dx = ((g^{\star}, v))_{V} = (g, v)_{H} \quad \forall v \in V_{0} \quad \text{and} \quad g \in H(\Omega)$$

by Green formula we have the representation of g^* given by

$$-\Delta g^{\star} = g \quad \text{in } \Omega \quad \text{and} \quad g_{|\partial\Omega}^{\star} = 0.$$
(4.5)

Since $g \ge 0$ in Ω , by the maximum principle we have $g^* \ge 0$ thus $g^{*-} \equiv 0$, so

$$((g^{\star +} - g^{\star}, v - g^{\star +}))_V = \int_{\Omega} \nabla g^{\star -} \nabla v dx = 0$$

which gives $u = g^{\star +}$.

Theorem 4.6. Let $V = H^1(\Omega)$, $H = L^2(\Omega)$, $K = \{v \in V : v \ge 0\}$, $a(u, v) = (\nabla u, \nabla v)_{H^n}$. For a given $g_i \ge 0$ in H, i = 1, 2, we have $u_i = u_{g_i} = g_i^*$ and

$$u_{tg_1+(1-t)g_2} = tu_{g_1} + (1-t)u_{g_2} \quad \forall t \in [0,1].$$
(4.6)

Proof. As $g_i \ge 0$ in H, then $u_i = u_{g_i} = g_i^*$, for i = 1, 2. Moreover

$$\begin{aligned} \alpha &= a(u_1, u_2 - u_1) - (g_1, u_2 - u_1)_H = a(g_1^{\star}, g_2^{\star} - g_1^{\star}) - (g_1, g_2^{\star} - g_1^{\star})_H \\ &= ((g_1^{\star}, g_2^{\star} - g_1^{\star}))_V - (g_1, g_2^{\star} - g_1^{\star})_H \end{aligned}$$

and by the Riesz theorem

$$\alpha = ((g_1^{\star}, g_2^{\star} - g_1^{\star}))_V - (g_1^{\star}, g_2^{\star} - g_1^{\star})_V = 0.$$

We have

$$\beta = a(u_2, u_1 - u_2) - (g_2, u_1 - u_2)_H = a(g_2^\star, g_1^\star - g_2^\star) - (g_2, g_1^\star - g_2^\star)_H = ((g_2^\star, g_1^\star - g_2^\star))_V - (g_2, g_1^\star - g_2^\star)_H$$

and also by the Riesz theorem

$$\beta = ((g_2^{\star}, g_1^{\star} - g_2^{\star}))_V - (g_2^{\star}, g_1^{\star} - g_2^{\star})_V = 0.$$

So by Theorem 3.1 we obtain (4.6) and we finish the proof.

Remark 4.7. In the case $\Omega =]0,1[\subset \mathbb{R}, (4.5)$ becomes

$$-g^{\star''}(x) = g(x)$$
 in $]0,1[, g^{\star}(0) = g^{\star}(1) = 0.$

and we can obtain the explicit expression of

$$g^{\star}(x) = x \int_{x}^{1} g(t)(1-t)dt + (1-x) \int_{x}^{1} tg(t)dt$$

so we have

$$g(t) \ge 0$$
 in $[0,1] \Longrightarrow g^{\star}(x) \ge 0$ in $[0,1]$

From Lemma 4.5 and Theorem 4.6 we deduce that $u_g = g^*$. Moreover if g(t) = g constant then

$$g^{\star}(x) = \frac{x(1-x)}{2}g$$

Conclusion. The idea in the Theorem 3.1 is simple, rigourously proved, and is very useful for establishing the strict convexity of cost functionals in optimal control problems from elliptic variational inequalities. To the best of our knowledge this idea is new and can not be found in the literature of elliptic variational inequalities and control theory; see for example [12, 14, 13].

References

- C. Baiocchi and A. Capelo, *Disequazioni variazionali e quasivariazionali*. Applicazioni a problemi di frontiera libra. Pitagora Editrice, Bologna 1978.
- [2] G. Duvaut, Résolution d'un problème de Stefan (fusion d'un bloc de glace à zéro degré). (in French) C. R. Acad. Sci. Paris Sér. A-B 276 (1973), A1461-A1463.
- [3] D. Kinderlelehrer and G. Stampacchia, An introduction to variational inequalities and their applications. Academic Press, Inc New York-London, 1980.
- [4] H. Brezis, Problèmes unilatéraux. J. Math. Pures Appl., 51 (1972), 1-168
- [5] J. F. Rodrigues, *Obstacle problems in mathematical physics*, North Holland Amesterdam 1987.
- [6] P. Ciarlet, The finite element method for elliptic problems. SIAM, Philadelphia, PA, 2002. Reprint of the 1978 original North-Holland, Amsterdam.
- [7] R. Glowinski, Numerical methods for non-linear variational problems. Springer Verlag, Berlin 1984.
- [8] G. Stampacchia, Formes bilinéaires coercitives sur les ensembles convexes. C. R. Acad. Sci. Paris. 258 (1964) 4413-4416.
- [9] J. L. Lions and G. Stampacchia, Variational inequalities, Comm. Pure Applied Math. XX (1967) 493-519.
- [10] D. Kinderlehrer and G. Stampacchia, An introduction to variational inequalities and their applications. Academic Press, New York 1980.
- [11] C. M. Gariboldi and D. A. Tarzia, Convergence of distributed optimal controls on the internal energy in mixed elliptic problems when the heat transfer coefficient goes to infinity, Appl. Math. Optim. 47 (3) (2003) 213-230.
- [12] Chen, Qihong and Ye Yuquan, Bilateral obstacle optimal control for a quasilinear elliptic variational inequality, Numer. Funct. Anal. Optim. 26 (3) (2005) 303-320.
- [13] Wang, Gengsheng, Necessary conditions for optimal controls of semilinear elliptic variational inequalities involving state constraint, Acta Math. Sci. Ser. B Engl. Ed. 25 (1) (2005) 7-22.
- [14] Ye, Yuquan and Q. Chen, Optimal control of the obstacle in a quasilinear elliptic variational inequality, J. Math. Anal. Appl. 294 (1) (2004) 258-272.

Mahdi Boukrouche

LABORATORY OF MATHEMATICS, UNIVERSITY OF SAINT-ETIENNE, 23 RUE DU DR PAUL MICHELON, SAINT-ETIENNE, 42023, FRANCE

Phone: 33 4 77 48 15 35; fax: 33 4 77 25 60 71

E-mail address: Mahdi.Boukrouche@univ-st-etienne.fr

Domingo A. Tarzia

Departamento Matemática-CONICET, FCE, Univ. Austral, Paraguay 1950, S2000FZF Rosario, Argentina

 $E\text{-}mail\ address:\ \texttt{Domingo.Tarzia@fce.austral.edu.ar}$